BC Calculus – FDW 3rd Edition – Section 9.1 Even Answers

Quick Review 9.1
2. -1, ½, -1/3, ¼, 1/30   4.(a) -1/2  (b) -1/64  (c) an = 2(3n-1) = 8(-.5)n-1
6.(a)[image: image1.jpg]


(b) e   8.(a)[image: image2.jpg]


(b) -1   10.(a)[image: image3.jpg]


(b) 0
Section 9.1

2.(a) 
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   4. Same   6. Different   8. Diverges   10. Converges 
12. Diverges   14. Diverges   16. Converges: 30/11   18. Diverges   20. Converges: 1 

22. -2 < x < 0, 
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 24. -1 < x < 3, 
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26. 
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28. see #22 
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30. see #24 
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32. see #22 
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34. see #24 
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36. Divergent geometric series with 
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  38. 
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. To get 0, use 
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   40. Let 
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   42. 7/9   44. 157/111   46. 41,333/33,300   
48. 16 meters   50. 8 m2  52.(a) S – rS = a – arn-1  (b) divide by 1 – r    
54. 
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[image: image22.wmf]363

333...3...

n

xxx

+++++

 for 
[image: image23.wmf]11

x

-<<


58. 
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60. 
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   62.(a) The limit of the ‘partial sum’, Sn, is that convergence value, say ‘S’.

(b) 
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  (c) 
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64. 
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  66. False. 1.01 > 1   68. C   70. E   

72.(a) 
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 (c) -1 < x < 1 (d) 
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74. 
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76. Use the definition of a horizontal asymptote, replacing ‘n’ with ‘x’. 
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